4

RE-Y=70H0 Train Your Math 53BN 3

%
A
i
N
3
5

(1] XNezt®E

(1) RoOKXDAEELELLD, (2) ROBE*ERB2EBLELL),
®© 8 + 5 + = 18 ® 14 =0x0
@ 9 + - 8 = 5

= % O %
® 7 - 3 4 A @ 20 0 [ % O
@ - b = § = B8
@ 30=0x0Ox0

& 7 ¥ x 5 = 175
® 27 x 8 =+ 9 = @ 48 = OxOx0OxDOx0O
@ |5 o, 5 X 7 —

E s e - & ® 40 =0Ox0Ox0Ox0O
(3) ROBFEERINFEMIIERLELL, (4) RODEBONTEELELLD,
® 4 t 9 kg = kg 2 |

0) X =
3 3
@ 5 kg 982 g = g
@ 4 g 303mg = mg > |
@ X =
@ 4006 t = t kg 5 2
® 8572 kg = k
g g g 8 4
©) X -
@ 3304 g — g mg || 5




(2] E#
(D) ROILHHIBVT BTRLEIALRET

BT rE Yool ditHiciesTL
£ID,

3 RZESFmE Yk

(3) ROBRNBEWTARZGFFRA 50, A 5X
EALILLD,

D) (2) (3)

C Z R

(4) (5) (6)

(2) ROBWIZEZZLLD,

DO E@»I1L6cmODEART . X9
c mOETATVOFFE

@ EROFEEHNIcmT . B 6cmD
A3V oEiE

Q F1R3c moiFFi

(4) ROUREIEBEL TELEZL X DLH%
BFITRBTLLID,




(3] &FwWhELA

(1) $BexFEYIC BEXTEXIILELLY, (2) g, 29, 39, 49, 59, 6g DHBLY%EYL
DIIERETHH9)EITLLID

2|/B|9| I [16|P |23\ W

BSXY 3c 10 J 17/ Q |24 xr <> () A C)
rarvoaze | 0o [l < el - | v O
3 5 |12 L 19| s |28 2

TS5 6 F13 M 20T O O

(3) IRTOHF-#1T-47 0V 712, OAOOH (4) FiZEA I0BES=. 2IdBEA IS ESEFT,

FENBIIICEREIBEDOILLD, HAAHRELT3 BZICZHEVWNTELIZ B
IZEBWVWOKDIEENHO S BZNDZETLLD
n?
A 3@
108 4
2
>
@)
Y
o 158 ¢




(4] 753> T7nERH

(1) AOCEADLEENEZ*@TRLELLI, (2) ZDOADERDENEHIEEILDICEMMEIE

HELLY,
I
H
G arabt| B [ EA-TVBHEK
F o1& EmACEOPIE| § |MEvELE,
E
D
¢ ] -
B A | 5 |
@ \ \ “ ’
1 2 3 456 7 8 9 el
._ |
) /,/ ‘ ‘\
o kF: 8% & € 53 8 d

O £ s J e L w )

(3) RI— Iy —FFTRETHDYE, T (4) ODQNEHTHALLE AIZLDTRIINET

YO@EI5TLLID, L&D,
——
TAMERDH EREAE aeoon| 24 [#ovon| (gysEL| B A| & B
OB ERLIXTEHE, 6 4 I
605U ESOE FFBRLIETHT A 2
605 FKELLILTFREH,
3
4
BE FRAMER HE
A “2
B 57
| ()BICEE () ORVHERT |
G 62
D 58
: as




